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Solve each system by elimination.
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Classify each system. Give the number of solutions.
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17. The sum of the digits of a two-digit number is 13. When the digits are reversed, the
new number is 27 less than the original number. What is the original number? 85

Graph the solutions of each linear inequality.

18. y<2x—-5 19. —y>8

1
20. y> R

Graph each system of linear inequalities. Give two ordered pairs that are solutions

and two that are not solutions.
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3x—-y>3

y=2x
23.
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24, Ez¥a and Tava sold at least 150 coupon books. Ezra sold at most 30 books more than
twice the number Tava sold. Show and describe all possible combinations of the
numbers of coupon books Ezra and Tava sold. List two possible combinations.

Chapter 6 Systems of Equations and Inequalities

Answers

Possible ansv@efs: solu-
tlons': (6, 4), (9, 0); not
solutions: (2, —4), (0, 0)

tF?ossible answers: soly-
lons: (2, 0), (4 0);
+(2,0), (4, not ' :
solutions: (— ' . swer
(22, 0), (=4, 0) Eg;ssabég an)swers: solu-
(0,1 . (0, 2); not
solutions: (—s, O),) (4, 1)
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24. Ezra and Tava could hat
sold any combinations
represented by an ordee
pair of whole numbers it
the solutions region:
Possible answers:
(Tava: 50, Ezra: 125)
(Tava: 65, Ezra: 95)
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